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Folding the rectangle into 5 equal divisions is the same process of folding to the ratio of 1:2, only you are doing it four times (It is five folds in the circle, one to get the straight edge. There is a consistency of five folds generating five diameters, a 5-10 symmetry found in the circle.) 
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This is a simple accordion fold to the proportion of 1:2 that reveals three.  It demonstrates the difference between the circle and a polygon, the straight line and the curve. There is no correspondence of measure only a proportional process of folding. With a little practice it is easy to do with great accuracy. 
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When folding a rectangle the process is the same except you eliminate the first fold because there is already a straight edge, which is generated in the circle by folding in half. The circle is where the 1:2 ratio comes from that is directive to all folding regardless of the shape. In the same way all folds are a right angle circular movement. 





To fold in half is the first of two more folds to divide the circle into 3:6 symmetry using the ratio of 1:2. Three fold three diameters. Determining a 1:2  ratio is simply seeing a one to one correspondence in full context. 
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Again you can be very accurate since you are only looking at 1:2 relationships of division. This is good hand/eye training to see what you are doing, then to instruct your hands to make adjustments if necessary. If you can do it with the circle you can do it with any quadrilateral.





This is very simple stuff but has little meaning when removed from the circle context The three possibilities of folding a circle folded in half to that ratio of 1:2 is proportionally into 3-6, 4-8, and 5-10. 





Folding 3 and 5








